RAILWAY | SSC | STATE EXAMS

A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Classification Questions Overview

Classification Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Classification Questions.

Question

Which one doesn't belong to the group?

Difficulty : Moderate Average Time: 26 Seconds

Options :
1. 4520

2. 5630
3. 4832
4. 7963

5. 3619

Solution

The correct answer is option 5i.e 3619.

Understanding Application

Multiplication of first and
second term = 3rd term
4x8=32

Hence the correct
So, 4832. answer is 3619.

All follow this pattern
except 3619.
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